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8 2 Graph Simple
* *= Rational Functions

f - KEY CONCEPT

= The graph of the parent function flx) = _\l isa
hyperbola, which consists of two symmetrical
» parts called branches. The domain and range
- are all nonzero real numbers,

horizenta

- Any function of the form g(x) = % (a # 0) has
‘ o asymptote

the same asympiotes, domain, a'nd Fange as
: the function flxj = l:
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Guess who's back? 1st form of rational \
functions
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GRAPH and State Domain, Range,
Vertical and Horizontal Asymptotes.
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2nd form of rational functions...ITS DIFFERENT how?
ax+b

y = cx+d CXJ«d\:Od
5 cx="2
( Vertical Asymptote is the line x = -d/c.| WHY?7?? )(——'f

Horizontal Asymptote is the line y = a/c. Vi
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Try.. first decide which type of
expression it is...

1) -2 2) y= 3x-4
y=sar 4 Vy=
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